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‘ Instruction '

The candidate should indicate the correct Roll Number, Registration No., Course, Question Booklet Series,
Question Booklet SET on the OMR Answer-Sheet otherwise the Answer-Sheet will not be evaluated and the
candidate will be solely responsible for it.

Each question has four alternative answers. The candidate has to darken only one circle/bubble on the Answer-
Sheet using black/blue ballpoint pen indicating the correct answer as shown below. If more than one answer /
option is found darkened, then the question will be treated wrong and will not be evaluated.

Example: Correct Method: O@ OO Wrong Method: ¥ & ® @

Answer all the questions / FIF0 2T Teq W€ / G TAEHHT GT‘I'\’ﬁ'\'F\IﬁRT\ 2x30 =60
Choose the correct option / {6 $@aT6 53 %3/ W&l ey BTeN

1. First five year plan in India was for the period —

(A) 1947-1952 (B) 1951-1956 (C) 1955-1960 (D) 1959-1964
ST &N AIES “AfGTaeg TNade e —

(A) 1947-1952 (B) 1951-1956 (C) 1955-1960 (D) 1959-1964
T UGyl TioiTehT THT-hTeT & 217 2

(A) 1947-1952 (B) 1951-1956 (C) 1955-1960 (D) 1959-1964

2. Tebhaga movement started in which year?

(A) 1845 (B) 1946 (C) 1997 (D) 1948
(TSN SNHETT T TNE ©F 20T 9

(A) 1845 (B) 1946 (C) 1997 (D) 1948
CTHIRIT 37Tt % YT 99 &1 —

(A) 1845 (B) 1946 (C) 1997 (D) 1948
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3. India’s political system is —

(A) Democratic (B) Dictatorial (C) Military (D) None of these

SIS AGAOT TIE —

(A) ieifEs (B) GFAIETOH (c) ffsnif (D) @=5E =

ARID! I Tcie AT & —

(A) SIS (B) 3rfeFRIpaTal (C) &= AqrET (D) =fY fuent 1 &
4. Who is known as father of Indian National Congress —

(A) W. C. Banerjee (B) S. N. Banerjee (C) M. K. Gandhi (D) A. O. Hume

TIORI SR TATHE Toe 0 IS —

(A) TrwivE G (B) &, &=, G (C) @. G, M (D) 4. 8. o

AR IS BEIRT S BT T 2

(A) S, 1. st (B) T. T &I (C) TH. & el (D) . 3i. [
5. The second five year plan was based on —

(A) Solow model (B) Domar model

(C) Robinson’s model (D) Mahalanobis model

et xR s fofe faer —

(A) GAICAL 3Cee (B) (O™ W0Te

(C) AR Cee (D) SReA R [CTe

1Y UsTrasT IS 3 AT JTeTRe Rt 2

(A) AT ARt (B) SR Ateat (C) =g Hiea (D) TETAHI Hiset
6. The first elected president of the Constituent Assembly in 1946 was —

(A) Jawaharlal Nehru (B) Dr. Rajendra Prasad

(C) Abul Kalam Azad (D) Vallabbhai Patel

1946 TR KRG o 22w e Ferie farm —

(A) TSR (TRF (B) ©. A&y &AW

(C) FET el e (D) IFSOIR 2T

o 1946 =T SR SIS afdalr FaffeT sreae of R 2

(A) STATERETe H6® (B) STo IS TS

(C) 31T P A< (D) Tt TS Ucel

7. RBI was nationalised in which year?

(A) 1947 (B) 1935 (C) 1949 (D) 1950
e qhF T I Teead 2 2

(A) 1947 (B) 1935 (C) 1949 (D) 1950
RBI 7 AT TSCTAGRUT 7Tl {2l 2

(A) 1947 (B) 1935 (C) 1949 (D) 1950
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8.

10.

I1.

12.

Who was the leader of Indian National Army?

(A) Mahatma Gandhi (B) Subhas Chandra Bose

(C) Bal Gangadhar Tilak (D) Indira Gandhi

& wEm 2w e (ol e ¢

(A) &I S (B) TervHm 7]

(C) AW aPxiee foere (D) Efeat =ity

SIS f&v= Biren! e &1 g 2

(A) HETeHT el (B) GuTY =< aI-T

(C) 9Tet e fretes (D) Sf~eRT Tieft

Which of the following is not a fundamental right as per the Indian constitution?

(A) Right to property (B) Right to equality

(C) Right to freedom (D) Right against exploitation

OISR TR SRt e @it cifess Sifter == ¢

(A) > ifes Sisia (B) FC0H SfEei

(C) F&ToF g (D) IReR Rerca Sfsia

TTeTepT He T ARG FAU SR Hiferds 1RIER 81g 2

(A) T afTPT 3Tf¥mR (B) SHHATD! AfRIBR

(C) TR IIIBR (D) ATt kg Sifdre

The preamble of the Indian Constitution is taken from the Constitution of —

(A) USA (B) Canada (C) Australia (D) Ireland
SIS TR SRR (@ (T FRIRY REF (18Tl 2R —

(A) USA (B) FIre! (C) ScEfer (D) SIS
IR HTLTHeD IRATET P <2eb! HITHFIE ferguen! &t 2

(A)Z TE.T. (B) Tt (C) srrecferar (D) STTRRCTTS
Natula pass is located in —

(A) West Bengal (B) Sikkim (C) Bihar (D) Himachal Pradesh
e e s —

(A) Ao (B) s (C) Rgm (D) featipet el
AT H3SUTS DET FaRLIT © ?

(A) UufeE §mer (B) Rifams (C) R (D) f&arret ueer
Which one of the following is the famous festival of Tamil Nadu?

(A) Pongal (B) Bihu (C) Onam (D) None of these
SIfEACH SwieR Sgpie e @ ?

(A) Cofzeet (B) "= (C) S (D) PHLE T
1T HEY G A IgD! T 04 8l 2

(A) GFTeT (B) #g (C) 31+ (D) =1erepT 1 Bl
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13. Total no. of Purans is —

(A) 11 (B) 18 (C)43 (D) 10
GG =R TR —

(A) 11 (B) 18 (C) 43 (D) 10
QRTUTET oot TR &7 —

(A) 11 (B) 18 (C) 43 (D) 10

14. The Kullu valley is located in —

(A) Uttarakhand (B) Himachal Pradesh  (C) Punjab (D) Assam
o] GO SR

(A) Teaie (B) f2aivet et (C) &= (D) S
o] HIT HEl SR © 2

(A) STRETS (B) f&Hraer v (C) v (D) 3999

15. Which of the following is a tributary of the river Brahmaputra?

(A) Subansiri (B) Bhima (C) Chenab (D) Nubra
EkReelw Ty @@l amvjas S ¢
(A) G (B) fem (C) vl (D) 5l
dleteT HEA T FETYA TP TERISD Tl 8 2
(A) IR (B) off=r (C) TS (D) Tam
16. Which one of the following is not a writ that the courts can issue under the right to Constitutional
remedies?
(A) Habeas Corpus (B) Mandamus
(C) Ceteris paribus (D) Quo Warranto
AR e Sieer Wb (@ [ SwieTs 2R S F60s 2N =i ¢
(A) I eSTRIFA (B) =5 S 2ifS T Siviees e
(C) =i Raa @& AR (D) 8 ST
GG ITARDT JATABR il SfaTerdet SIRI T Fer Re Tefepr 7ed g 8lg ?
(A) ST TeefiaRuT (B) URHTSYT
(C) SR ufes (D) IRIBR geaT
17. How many Tirthankars were there in Ancient India?
(A) 16 (B) 22 (C)23 (D) 24
2B Sire GIiS Faee OifEa g ¢
(A) 16 (B) 22 (C)23 (D) 24
T TREHT S dhREmd! e il 27 2

(A) 16 (B) 22 (C) 23 (D) 24
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18. The preamble of Indian Constitution was adopted on —

(A) 26" January 1950  (B) 26 Nov, 1949 (C) 15 August 1947 (D) 9% Dec, 1946
SIel WRATT VR TR J2© 2 ¢
(A) 26 GG 1950 (B) 26 F0oF 1949 (C) 15 B 1947 (D) 9 orT=a 1946

IR HfTLTH] TR Bidet Tl Iueh! fRrT ?
(A) 26 ST 1950 (B) 26™ =X 1949 (C) 15% 3R 1947 (D) 9t fGF=R 1946

19. Asper 2011 Census, which Indian state is the highest populous?

(A) West Bengal (B) Bihar (C) Rajasthan (D) Uttar Pradesh
20%% A Gt SR, SATed (I A6y TP Tatee 2

(A) *FoT% (B) 2= (C) Arera= (D) T&x st

T 201 19T STFTVFT SIER Gl 961 ST HUb! AR I G- 81 2

(A) U3 ST (B) iR (C) ToTe=AH (D) ST 2T

20. When did liberalization start in India?

(A) 1991 (B) 1992 (C) 1993 (D) 1998
F© AlCF SACS TridIFas WF =T 2

(A) 1991 (B) 1992 (C) 1993 (D) 1998
TR ISR Bl Lo AT 2

(A) 1991 (B) 1992 (C) 1993 (D) 1998

21. Green revolution is associated with the production of —

(A) Fish (B) Cereal crops (C) Forest (D) All of these

e [k e @ Terimem 71 wivo ¢

(A) =7 (B) W= == (C) g (D) 3Rl

BT BIf~T & SATERIT T af~ed & ?

(A) FT8T (B) 3! HeTct ©) & (D) Tt 99 &
22. Which body replaced the Planning Commission in 20157

(A) NITI Ayog (B) NABARD (C) SEBI (D) None of these

o @A sl shries Zwifeie =1 2015 e ¢

(A) NITI Ayog (B) NABARD (C) SEBI (D) FIAibE =

T 2015 AT AT STAVIATS P FreprIer wfeReema= w1t 2

(A) T 3meT (B) NABARD (C) SEBI (D) TRt 1 BIg
23. Battle of Plassey fought in which year?

(A) 1657 (B) 1757 (C) 1857 (D) 1957

AN Yo T AT FCAMRE 9

(A) 1657 (B) 1757 (C) 1857 (D) 1957

P QTG T TT I TYaT R 2

fFAN 1077 M\ 1977 ™ 108 ™M 105877
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24. Full form of GDP is —

(A) Gross Domestic Product (B) General Domestic Product
(C) Gross Development Product (D) Great Development Producer
GDP-q3 = e &7 —

(A) Gross Domestic Product (B) General Domestic Product
(C) Gross Development Product (D) Great Development Producer
GDP & 4xT AT & —

(A) Gross Domestic Product (B) General Domestic Product
(C) Gross Development Product (D) Great Development Producer

25. The oldest Veda is —

(A) Sam Veda (B) Rig Veda (C) Yajur Veda (D) Atharva Veda

eiibiTox @ 7@ —

(A) AR (B) &I (C) TEER (D) S=EEw

FHeT YR 9% 8T —

(A) GH IS (B) Tag (C) IR (D) 3RS
26. The highest peak in the Eastern Ghats is —

(A) Anai mudi (B) Dodabeta (C) Ooty (D) Mahendragiri

SAIG #=0eq A o 2o —

(A) SRR (B) mimiczet (C) T (D) ez

i ETeHT Gt Iod RRER & —

(A) ST (B) SrgrEr © = (D) FesfHY
27. Who is considered as the founder of Buddhism?

(A) Mahavira (B) Ashoka (C) Gautam Buddha (D) Guru Nanak

& 4G &7 & e ¢

(A) T=2_= (B) ST (C) cTes g (D) &% =

dig g DT THRATIS HRACTS IS ?

(A) 7EER (B) 31N (C) T 95 (D) T® D
28. Quit India movement started in —

(A) 1920 (B) 1930 (C) 1942 (D) 1947

RS RIS WIS @ SR —

(A) 1920 (B) 1930 (C) 1942 (D) 1947

IR BlST ATl JeHua! R —

(A) 1920 (B) 1930 (C) 1942 (D) 1947
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29. Majuli is a riverine island located in the river?

30.

(A) Ganga (B) Brahmaputra
et (Fie TR orwefe ot 9

(A) M= (B) g7l
P TilTe ST HIel! STy SR © ?
(A) T (B) s&13A
Qutub Minar is located in —

(A) Agra (B) Delhi
T3 e oRfEe —

(A) et (B) frat
P AR HET FR2IT S ?

(A) TR (B) faett

(C) Yamuna

(C) T
(C)agT

(C) Bihar

(C) Ra=

(C) R

X

(D) Narmada
(D) st

(D) Fier

(D) Punjab
(D) =lienx

(D) Ui



